
8064 8064.5 8065 8065.5 8066
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

24−

23.5−

23−

22.5−

22−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7118

7118.5

7119

7119.5

7120

7120.5

7121

7121.5

7122

ru
n

run:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

126−

125.5−

125−

124.5−

124−

us
l_

1X

usl_1X:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

2.5

3

3.5

4

4.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

58.6

58.8

59

59.2

59.4

59.6

59.8

60

60.2

60.4

60.6

60.8

us
l_

4e
X

usl_4eX:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

17.5

18

18.5

19

19.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

us
l_

12
X

usl_12X:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7118

7118.5

7119

7119.5

7120

7120.5

7121

7121.5

7122

ru
n

run:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

144.5−

144−

143.5−

143−

142.5−

us
r_

1X

usr_1X:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

202.5

203

203.5

204

204.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

15.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

39.5−

39−

38.5−

38−

37.5−u
sr

_1
2X

usr_12X:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7118

7118.5

7119

7119.5

7120

7120.5

7121

7121.5

7122

ru
n

run:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

35510.5

35511

35511.5

35512

35512.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

6936

6936.5

6937

6937.5

6938

us
l_

co
il3

usl_coil3:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

4070

4070.2

4070.4

4070.6

4070.8

4071

4071.2

4071.4

4071.6

4071.8

4072

4072.2

us
l_

co
il4

usl_coil4:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

279−

278.5−

278−

277.5−

277−

us
l_

co
il6

usl_coil6:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

14787

14787.2

14787.4

14787.6

14787.8

14788

14788.2

14788.4

14788.6

14788.8

14789

14789.2

us
l_

co
il7

usl_coil7:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7118

7118.5

7119

7119.5

7120

7120.5

7121

7121.5

7122

ru
n

run:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

28651.8−

28651.6−

28651.4−

28651.2−

28651−

28650.8−

28650.6−

28650.4−

28650.2−

28650−

28649.8−

28649.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

5954−

5953.5−

5953−

5952.5−

5952−

us
r_

co
il3

usr_coil3:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

4047.6

4047.8

4048

4048.2

4048.4

4048.6

4048.8

4049

4049.2

4049.4

4049.6

4049.8

us
r_

co
il4

usr_coil4:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

348.5−

348−

347.5−

347−

346.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

17804.2

17804.4

17804.6

17804.8

17805

17805.2

17805.4

17805.6

17805.8

17806

17806.2

17806.4

us
r_

co
il7

usr_coil7:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7118

7118.5

7119

7119.5

7120

7120.5

7121

7121.5

7122

ru
n

run:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

445−

444.5−

444−

443.5−

443−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

77−

76.5−

76−

75.5−

75−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

27

27.5

28

28.5

29

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

502.5−

502−

501.5−

501−

500.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

99.8−

99.6−

99.4−

99.2−

99−

98.8−

98.6−

98.4−

98.2−

98−

97.8−

97.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

26

26.5

27

27.5

28

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

167.5

168

168.5

169

169.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

67.5

68

68.5

69

69.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

13−

12.5−

12−

11.5−

11−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

181

181.5

182

182.5

183

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

2

2.5

3

3.5

4

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

11.5−

11−

10.5−

10−

9.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7120}



8064 8064.5 8065 8065.5 8066
cyclenum

247.5−

247−

246.5−

246−

245.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

83−

82.5−

82−

81.5−

81−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

2.5−

2−

1.5−

1−

0.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

431−

430.5−

430−

429.5−

429−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7120}

8064 8064.5 8065 8065.5 8066
cyclenum

7118

7118.5

7119

7119.5

7120

7120.5

7121

7121.5

7122

ru
n

run:cyclenum {run == 7120}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


